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No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answer precisely in the main answer-book only.
e off gheml @) qva Fav-ygRawmr 7@ & v I ahenffal w Ry 5 3 ge gev-grRasr
¥ & wae gel @ oav ford |

Attempt Five questions in all, selecting at least One question from each section. All questions carry equal

marks.
gl @vE ¥ @ B9 @ B G YT FT 997 P §T, g:?fvfﬂwvf?ﬁaﬁva?ﬂwwﬁyﬁiﬁ‘w

a7 &/

Write your roll number on question

gvt & gov forae ¥ qd FET-4 9¢ ¥e TR Hawd g

-paper before you start writing answer of questions.

Section-A /Gvs—3]
Decompose price effect into income and substitution effect. [10]
(a1 Hraa wATg BT d gfeenes g H s dRY |

(/b) Define Elasticity of Demand. Explain measurement of point elasticity on a

- 5 linear demand curve. [10]
@) w1 &) S @ aRIT BRI | b e AT 9 W [{g B A
&1 Ui HIfTY |
2. (@) What is meant by Consumer Surplus? How is it measured using
indifference curves? (10]
(a1) U @ qgd @ T AT 8?7 dewerdl 9l BT SN PR §Y
THHT DA AT AT 7
()  How does the Revealed Preference Theory establish the Demand Theorem? [10]
(@)  wafea sfemr Rigia fea ser @ AT @ Righa & aRofa s 82
3. Explain increasing, decreasing and constant returns to scale with the help of
1soquants. [20]

vy @t g G b ager, e oY W wfwal @i avk HRY |
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Section-B / @vg—g
Discuss Short Run Cost Concepts.
JIBTAA AT IrauRona &) waf HRY |

I)L\u’lbg the determination of equilibrium price and output by a discriminating
- fl g

¥ Shotopblist. State the conditions that are required for price dlscnmmatlon to be

profitable.
A AR $ sl e & dha iR SaRy Feikor o v
I | 37 <ol &1 oo BRY s ded Ba Rdeo amai 2|
Explain the Chamberlin Model. Does it lead to a stable equilibrium?
FrRfer Aed B wHIEA | T T8 Tl He une wear 27

Section-C / @ve—¥q
Discuss pricing of factors of production assuming imperfect competition.

mmﬁmaﬁmﬁwﬁrma?m&mﬁWﬁm
BRY |

(@) What is meant by monopolistic and monopsonistic exploitation of labour?
@) M D ERERS AT 7F B (ERER AN ¥ 7 a2

(b) Describe Bilateral Monopoly.

@ fewi veiRer @ 9 sy

How does the existence of imperfect competition and externalities pose an obstacle
in achievement of economic efficiency?

wﬁaﬁuﬁuﬁmsﬁvm&ﬁmﬁmﬁmmﬁﬂmmaﬁ
qIfeT & qrem 272
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No supplementary answer-book will be given to any candidate. Hence the candidates should write the
answer precisely in the main answer-book only. :

fref) ot qOEfT 3 qves Gev—glasT 78 @ aeh A qdeEneral @) ARy > 3 gE Fu-graHl
7 & wava el @ SN ford

Attempt Five questions in all, selecting at least one question from each section. All questions carry equal
marks. ; ;

yeFE @US § @ FH @ FH F F¥T BT 997 PV §T, @WWW?WW/WW%‘%
a7 &/

Write your roll number on question-paper before start writing answer of questions.

g @ GO for@d | qd 9e—YF G¥ Vel T Havd Loy /

% Section-A /@vs—3{
/{. Explain the various concepts of National Income and also discuss three methods
P to calculate National Income. : [20]
w LT Ay A R RS B FHIEA T IS A BN AT BRA
' &= Rl @ A o=t AR
2 Explain the following - [5+5+5+5=20]
PrefeRan &1 wwETEd —
(a) Economic Growth
anfdfe gfg
(b) GNP Deflator
EIAG A BRI INED
(c) Double Counting in NI Accounting
I g AGIHT H QS AU
(d) Inflation
HETEHIf
/g. Critically evaluate the Fisher’s Quantity Theory of Money. [20]

fheR & g1 wRemr Rigia &1 srcEToS edie P |




Section-B / @v8—d
nesian Model for

4. Give a comparative description of Classical and Key _
determination of employment and output. [ ]

qﬁ«andmmq%ﬁama}mnﬁfkﬂ@zﬁﬁwmmm

faawor §1fg | :
[10+10=20]

8. Write short notes on the following -
fprfarRaa w wfera feudft By —
(a) Relative Income Hypothesis
wmer g aR&aT
(b)  Permanent Income Hypothesis
) 3 gR&edHr
6. “A trade cycle is caused by the interaction of Multiplier and Accelerator”.
Explain this statement by providing Samuelson’s Model of Business Cycle. - [20)
"wwwqﬁmaﬁmm$mﬁmﬁl"mmﬁ
AR[ee & AR a9 Aed gRI A |
Section-C / @vs—H
¢ Discuss the role of Monetary and Fiscal policy in the context of changing
scenario of Indian Economy. : [20]
aredr siefaraven & aeed uRgwd @ wed § AfE iR Ao Afa @
et o gd9i BT |
8. Delineate the derivation of IS and LM curve and determine the rate of interest
with the help of them. [20]
mwaﬁvw@waﬁqmﬁrﬁﬁﬁmﬁmwma%mﬁ
ana @) @ fFuiRa I |
. ¢ Explain the following - [5+5+5+5=20]
frfoRad & we B —
(5)\ Phillips Curve
fobferen asp
, %; Recession
N L&l
« Deficit Financing
_ grel fadaE
(&)  Credit Expansion
ard fawr
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Maximum Marks: 100

No supplementary answer-book will be given to any candidate. Hence the candidates should write the
answer precisely in the main answer-book only.
e o otemll o) qva aav—gRaar 76 @ ar) s TR @) aRY 5 3 g Sev-gRwT
7 & wava gea) & Fov ford |

Artempt Five questions in all, selecting at least One question from each section. All questions carry equal

marks.

g @S 4§ FH-0- U JET BT 99 wvd §Y &l e qed B GOy D | o el @ o
T &/

Write your roll number on question paper before start writing answers of questions.

gei & TV foread @ qd 9997 ¥ Wl TR Javy [y |
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(a)

(b)

Section-A / @Us—3]

The mean annual salary paid to all employees of a company was ¥ 5000. The mean
annual salaries paid to male and female employees was Y5200 and 4200
respectively. Determine the percentage of males and females employed by the
company.

e wwdl & Wi HHERAl B AT AT AT A6 S000X 41| gRu iR i
FaafREl $7 sivad aif¥e dad Hae: 5200 TAT 4200 AT | H¥ & HHaAIRA]
# qosi qen Rl &1 ufaed s Hfore |

A vehicle when climbing up a gradlent consumer’s petrol at the rate of one litre
per 8 kilometers while climbing down it gives 12 kms per litre. Find its average
rate of consumption for to and for travel between two ends of 25 kms long

gradient. Verify your answer.

ud dig4 dq1 asd g 8 fA mm@mammmm
2 wafa “fra Iaed gu 12 fr @ ufar drex i aitera SqAT @ ¥ | QW W
& dva 25 f ) o wrae @ forg ow ared @ ol Aghel SuE @) Y S
510 | s gee @ oifa @ |

(6l

4l

[P.T.0]




(c) Calculate median and mode from the following data - (10]

Marks less than 80 70 60 50 40 30 20 10

No. of students 100 90 80 60 32 20 13 5

Prfafaa wial 4 miftas), agad s B

b W dU 80 70 60 50 40 30
fenfotay & w&m 100 9 80 60

20 10

32 20 13 5
(a) Distinguish between dispersion and skewness.

(4]
aafeor vd fAwwar § R qagy |

(b) The coefficient of variation of two series are 58% and 69% and their standard
deviation are 21.2 and 51.6 respectively. What are their arithmetic mean? (31

2 AR @ AR [Ud 58% TR 69% © | §9@ A fauer HHE: 21.2 7
15.6 ¥ | S GHMIIR ARG RT 87

(¢) In a moderately asymmetrical distribution mean deviation is 4. Find its standard

deviation and quartile deviation.

& rE—HtE Ao ¥ g fEdd 4 @ | gAY Rga den agele e
QAT |

(d) Find out the coefficient of skewness with the help of Karl Pearson’s formula.
Central value s ® 3 3w &G 8
Frequency W 28 B XU ™ 121

el faeia g3 @ weradr A fAwHar [ONE B G BT |
ERARR |

(10}

1S ‘@ B3 ¥ 35
3“3' < 30 28 25 24 20 21
(a) (i) What is probable error and standard error?

[2+2=4]
1 fagq qr ywg fawa @ar 87

(ii) If r = 0.6 and N = 16, test the significance of correlation coefficient.

ufE r=0.6 a1 N = 16, d Ggawa ONd & JAQoiar @ sita difdig |

(b) Calculate correlation coefficient from the following result - 4]
N=15%=25 §=18 o,=5 oy, =5 Xxy = 125 or (Ld,d, = 125)
Wherex - x=x, y~-y=y

fvsst Qo & apweras apia @ afRwan difoi, ol

N=15%=25y=18 o, =5 a, =5 Lxy = 125 or (Ydyd, = 125)
Wix- X=x y-g=y §
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(c)

(d)

In a partially destroyed laboratory on an analysis of correlation data, the following 61
results only are legible -

Variance of x =9

Regression equations - 8x — 10y + 66 = 0, 40x — 18y =214

Find on the basis of the above information -

(i) Mean value of x and y

(ii) Coefficient of correlation between x and y

(iii) S.D of y s
wmmﬁwmm$mﬁﬂm$mwm
(Record) # ¥ daet f=1 afRomd 9 §T —

X &1 U8RV =9

gl GfiERor — 8x — 10y +66 =0, 40x — 18y =214

79 ga @ e s P -

(i) xUdyd A% qA

Gi) xaur y® 4@ gEaEE TS

(i) y @1 wra fage

From the following data calculate cost of living index numbers, using - [61
(i) By Weighed arithmetic mean

Group Group index no. Group weighted

Food articles 352 48

Fuel and light 200 10

Clothing 230 8

House rent 160 12

Miscellaneous 190 15

ﬁmmﬁwmquﬁmﬁaaﬁm—
(i) WIRT FHHTR A &R

it Tt qEwi® it 7R
@ A 352 48
et il ST 200 10
b 230 8
7P 1 R 160 12
fafaer 190 15
3 [P.T.0]
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Section-B / @vs—4

(a) How does 2 normal distribution differ from a binomial distribution? What are the
jmportant properties of 2 normal distribution?
Wmmwmﬁwwﬁ?mma%g@umm—m
A

® A bag contains 5 black, 3 white and 2 red balls. State in how many ways can -

(i) 3 balls be drawn at random

(ii)3 black balls be drawn

(iii) 2 black-and 2 white balls be drawn. One black, one white and one red ball be
drawn.

qa;e)éﬁsm,muﬁzaﬁnmﬁ%nmﬁmmﬁ—

(i) 3 WS fFrelt S o B |

(ii)3mﬁ€ﬁmaﬁwm%|

(iii)ﬂﬁ@ﬂﬂtﬁiﬁﬁﬁﬁﬂﬁhﬁumv‘naﬁ (@Teh, |, )
-0 e FrsTe S =

(¢) Assuming that after drawing a card at random it is not replaced in the pack of cards.

' Find the probability of drawing in succession, Ace of clubs, King of clubs and
Queen of clubs.
uzmﬁgqﬁsmqﬁaﬁa@m@aﬁa%maﬁm@ﬁaﬁﬁam
mnmﬁwﬁﬁﬁmﬁ@mm(mwmum)ﬁ:_@m
qeeE (King) 3R ot a1 AT (Queen of clubs) &R W B aiear S
AT |

(d) 8 coins are tossed simultaneously. Find the probability of the following
outcomes -

(1)One head
(#) 6 heads
(1i1) At least 6 heads

(3¥) No head
A&Theads
a5 fd T o SeTa o &1 Fre oo @ sy faee -
() va e o
(ii) 6 forr a3
(iti) 9 A ¥4 6 R g U
(iv) ®78 faer 9 g3 ‘
(v) O fad fae g
5263
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(a) State the various steps in tests of significance. (41
grefear wdeor @ A= v saEy )
(b) In sample of 8 observations the sum of squared deviations of items from the mean
was 94.5. In other sample of 10 observations the value was found to be 101.7. Test
whether the difference is significant at 5% level. You are given that at 5% level
critical value of F for Vi = 7 and V3 = 9 degree of freedom is 3.29. (8]
g agdel & TH ufey § GHEER A A ual & e @ &1 e 94.5
o7 | 10 saFeHl U I ufed ¥ 7 WS 101.7 91| ¥ qeA A i P
fF 3R 5% WR W ARi® & Jear T8 |
a8 gat & f5 5% WR W V) =7 V, =9 WA @ faw F & s
Tou 3.29 B
(c) Ten individuals are chosen at random from a population and their heights are found
to be as under. In the light of these data, discuss the suggestion that the mean
height of the universe is 66 inches. (The table value of t for 9 df at 5% level of
significance is 2.262) 8]
Height of Persons 63 63 66 67 68 69 70 70 71 T
et e @ 10 @S AGRES U W T T R I FHard P gER
T | T AR R 9 G B I PR B wEke & A Fag 66 39
3| ¢ B 9 T B D RAY 5% ARIBA TR R FRONTT A 2262 8 |
i B FaE 63 63 66 67 68 69 70 70 71 71
(a) In a college out of 400 students 300 were boys and rest are girls. In a test given to
the students 260 boys passed and 20 girls failed. With the help of x* - test find
whether there is any association between sex and success. (Given x> - table value
at 5% level of significance for 1 degree of freedom is = 3.841) [10]
@ aw # 400 RERiE ¥ ¥ 300 Ted ol A wrsfra of | Renffal g A
m@qﬂmﬁzwmmﬁmzommﬁlxz-mﬁﬂ
&1 SN B qE FAY o T R AR A A P [-Ew 82
faar g3 &— 5% WRIGA WR W Wa=d HIfe 19 faw x2 ARV 3.841 ¥
(b) Solve the following linear programming problems by simplex method - (10]
Maximize - T = X + 4y
Subject to -

x+4y <24
2x +3y <4
3x+y<3andx,y>0

. (P.T.0]




o QTHTﬁ"l AR b1 gl Rraaw Ay ¥ #ifsre -
frpad ‘cﬁTﬁJ‘N — m=x+4y
yfera 8 -
x +4y<24
2x + 3y <4
3x+y§3€12ﬂx,y20
Section-C / @vs—4
(a) Ifu=e" and Budget constraint 10 - X - Sy =0, then find out the quantity of x and
y which maximize utility and also find marginal utility of money (A). (8]
afy u=e¥ & I Jore yfaa™ 10-x -5y =08, al x qr y ® Agdherad dr
i AR T a1 @ A ST (&) A s PR |
/\(\i)/\ Find the elasticity of demand of the followings - (4]
< e @ Wi A A T BT —
@x=bo-biP

Kk
ba=45
(c) If production function is 6 = A K* LP and budget constrain is C=L. PL+ k. Py, then

/ (8]

Sk .
find factors ratio ; of factors of production.

afe Sares Bod 0= A K¢ LB & dor auie ufag® C=L. Put k. P, ar |
1 W I £ T BT

. 4 Iftotal cost function is ¢ = 5000 + 10008 — 50067 + 36" |
Find the output of which marginal cost would be equal to Average Variable Cost
(AVC).
aft 3 AT B ¢ = 5000 + 10000 — 50007 +367 |
98 I &) A S AT fr o e arrd (MC) 3R 3iwa R
@ (AVC) TR &
(b) If demand function is P =10 — 2x and supply function P = 2x, find the consumer’s
surplus and producer’s surplus in equilibrium condition. (8]
af2 AR B P =10 - 2x a1 gfd el P=2x 8, T 6 @en § oW
1 IS B qI S PIFAT |
,(f(f If marginal propensity to saving is (MPS) = 0.5 - 0.2 y'? and given s = -3.5 and
7y =25, find saving function. (5]
afe aaa & dwEra ygfy (MPS) = 0.5 - 0.2 y @l s = -3.5 @ y = 25 Ran
BN 2| A4 dad ®eAd sa B |

5263 6
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No supplementary answer-book will be given to any candidate. Hence the candidates should write the

§ 5 ¢ / t one
answer precisely in the main answer-book only. All the parts of one question should be answered a

place in the answer-book. One complete question should not be answered at different places in the

answer-book.

feft of aemelf o qva STe-gRaET TEF & o o ThETeraY @ ARy fr § g Sae-gnaaT
3 & e geA @ g frd) ) ft va o7 @ s @@ T AT e @ 9T, Sae-geaaT
7 STTT—3TeTT Y TY 86T #Y P qur T 1 VT G¥ §el B/

Attempt Five questions in all, selecting at least One question from each section. A!l questions carry equal

marks.

yE @uS 7 W FH @ B 9B F¥ BT 997 B §Y, mwwv)a:‘aava”ﬁwwﬁw#a‘%
THT &/
Write your roll number on question-paper before start writing answers of questions.

gw & Gov for@d @ qd FeT-UF U¥ O TRY Hae [enev |

Section-A /Grs—3{
M Critically discuss the relationship between Environment and Development.
iR 3R faer @& Heg Heel @ snaraTEd faduHr Hifoig |
'Qf Define Market Failure. What is role of Public Policy in this context?
T e e @) oRafa o | g wed w8
ﬂfx Explain the Theory of Externalities associated with public goods.

A e axgei & def ¥ amar & fagia ® AR W aHeSy |

6473/5294 1 [P.T.0]



i ‘)&W - *‘{?‘)}ﬁzﬂ:{eﬂ*‘?@ 2n / A

Sect10]

Q.4  What do you mean by environmentd valu
arfaRoT Hewl A Y T I M
(a) Use values
GOUTOL LR g
(b) Non-use values

R-FUANT Y

(¢) Option values
e 7=
‘Qf/ Explain the following:
fr=foRea &1 9wy -
Contingent Valuation Method
rpRAS Heuie fafy
55) Hedonic Pricing Method
eI qou fufRor
Q.6  Explain environment as on input in production.
Wﬁmﬁwsﬁgaa%mﬁm»l
Section-C / Wﬂ
Q.7 What are Environmental Policy Instrumer@s? Discuss.
afaR Y B SR T §7 IR R AR |
y/‘ Discuss price instruments to correct externalities.
mﬁﬁﬂ@%mﬁwmﬁ&mm& '
9’; Write a note on the following -
frfoRed w fewelt o —
(ay Property Rights
wHf sfter
(h) Abatement Subsidies
e ufead
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